S1

Symmetry
Is the dotted line on each shape a line of symmetry or not?
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O Itis a line of symmetry. O Itis a line of symmetry.
O Itis not a line of symmetry. O Itis not a line of symmetry.
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O Itis a line of symmetry. O Itis a line of symmetry.
O Itis not a line of symmetry. O Itis not a line of symmetry.
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O Itis a line of symmetry. O Itis a line of symmetry.
O Itis not a line of symmetry. O Itis not a line of symmetry.
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O Itis a line of symmetry. O Itis a line of symmetry.
O Itis not a line of symmetry. O Itis not a line of symmetry.
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